Auxiliary Problems for Chapter 20
1.
What is the largest income transfer program in the United States measured by dollars transferred?

2.
Suppose the welfare benefit formula is:

Benefit = $8,000 – 1/3 (wage > $5,000)


a) 
What is the marginal tax rate on wages greater than $5,000?

b) 
Calculate the benefit if wages equal:
i) $0



ii)
$5,000



iii) 
$12,000


c) 
What is the breakeven level of income?

3.
A welfare recipient can receive SNAP vouchers as well as cash welfare benefits. If the SNAP voucher allotment is as follows:
SNAP vouchers = $7,000 – 0.50 (wages)


a) 
How high can wages rise before all SNAP vouchers eliminated?

b) 
If the welfare formula in Problem #1 applies, what is the combined marginal tax rate of both welfare and SNAP vouchers?

4.
Using the wage replacement formula and the rates found in Table 20.2, calculate the Social Security benefit for a worker earning:


a) 
$19,000 per year


b) 
$75,000 per year

5.
Using the answers from problem #4, calculate the wage-replacement rate for:


a) 
A $19,000 per year worker

b) 
A $75,000 per year worker

6.
How large a monthly Social Security check will a retiree get if her maximum benefit is $1,900 a month and she continues working for wages of $2,300 per month?

